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% S R[] FREf TH M M + A
B %K B % % o 3t # ) 32.7 8.0 169 11 353.7 330.1 1524.8 76
£ ity + () 39.1 13.9 164 10 365.1 344.4 1296.9 126
% it + (&) 37.0 13.6 157 5 287.8 277.4 1218.4 28
— 4 < e + () 48.6 19.7 172 20 574.1 543.4 2617.7 51
S R F A - T v Y = 7 (B) 40.2 14.8 171 19 344.5 304.5 967.7 742
A = 7 < — (3B) 36.7 11.7 175 12 317.4 292.7 879.3 252
VA = v ~ — (&) 34.3 10.7 176 4 273.1 264.4 717.2 67
= Rl (%5) 44.5 7.0 158 11 1031.3 913.6 495.1 108
= Rifi (£2) 47.8 3.8 161 6 636.4 595.6 1153.3 11
il Pt 3 il (55) 38.5 8.5 171 0 784.6 784.6 1997.0 1
HR = Rifi (49) 37.2 7.7 176 1 367.7 361.3 488.3 18
N £3 R (%) 36.5 5.8 161 0 285.3 284.0 355.0 12
3K Zall fifi (£2) 50.4 10.6 166 28 478.4 395.7 1406.8 130
& i Rl (35) 35.5 6.9 163 7 362.4 326.0 808.7 90
& & Rifi (%) 43.0 8.7 163 6 343.2 306.3 779.7 856
# & # fifi (£2) 55.1 13.9 162 4 330.5 290.0 1017.5 253
& E fili Bl # (%) 52.2 5.2 159 9 243.4 206.5 361.5 69
& 7 il B F (&) 43.9 7.5 153 5 226.3 209.6 551.4 341
e i 1 £ + (&) 42.5 7.2 148 2 242.8 239.9 364.8 17
E = + (&) 31.0 6.0 171 4 229.6 223.7 539.1 219
R B £ (7 R ) (5B) 30.3 6.3 172 0 240.0 240.0 1072.9 23
R F + (% a2 ) (&) 34.8 6.2 177 1 224.0 222.4 709.0 816
NEXEHEME (7~ —Y+%—) (B) 44.8 4.5 167 13 293.6 269.8 540.6 11
NEXEHEMA (T x—=Yy—) (K)| 526 10.1 171 3 293.6 285.7 4775 165
n“\ - A o~ v X = (5| 404 2.5 169 15 248.6 226.8 221.0 46
ro— A o~ X — (k) 41.6 8.3 160 15 255.4 230.1 530.4 117
I I /TR SR M- B () 41.0 6.0 166 6 249.6 229.4 537.5 684
I TR S - B (%) 43.4 5.9 164 5 225.0 209.1 481.6 1298
%) HE # # (%) 35.9 5.4 178 0 197.0 196.8 487.5 324
= £ £ % # B &) 41.8 15.9 174 0 396.3 395.7 1436.4 81
PN £ # % () 58.1 19.3 169 0 683.5 682.7 2348.5 83
x = Rl (35) 39.9 5.2 173 0 481.4 467.8 1417.4 16
X S fifi (£2) 41.4 6.7 172 0 407.5 407.5 1745.8 18
EREER - -HEZRZKE () 42.6 7.4 175 0 362.3 362.3 692.3 34
8 N ohh . B P R ek R () 32.7 3.5 182 2 256.3 252.9 297.3 20
@O Zohh . B - T R R R () 33.5 5.2 182 2 256.4 253.6 570.0 5
7 va A A — (3B) 40.0 3.9 181 32 462.3 367.4 1518.5 9
7 va A 7 — (&) 36.8 6.9 171 14 275.8 246.3 739.8 24
U — 7 a4 XL — & — (&) 46.5 18.4 168 5 210.6 198.8 398.4 29
X — X v F ¥ — () 49.5 13.5 160 3 256.8 251.2 648.0 3
EFRFE M A L — % — () 50.3 26.4 171 2 249.1 246.2 1100.3 10
= & I ns B () 46.5 21.5 158 11 282.5 260.1 780.4 55
] i 15 I B (&) 42.2 13.4 155 6 223.8 212.8 368.3 116
WREEB(HEERIFEIEEBEZKR ) (B) 39.1 10.0 174 16 288.9 262.2 566.4 654
We7e 5 B (| RIEIE B2 BR<. ) (%0 40.0 8.5 168 9 226.2 211.4 255.6 433
A = RN = JF F = v B — (&) 49.2 10.4 158 7 221.3 211.2 440.2 73
H & #H 4 = WK & B (B) 37.0 14.0 164 23 304.7 262.8 895.5 77
R 5 st 3 8 (5) 45.2 10.8 157 3 515.5 507.6 499.5 130
R G st B 8 (&) 48.1 10.5 144 0 267.8 267.5 498.4 466
BE 7= < T (%) 43.5 13.5 192 0 179.2 179.2 296.5 4
Eit| i} + () 43.9 9.7 188 6 295.6 286.2 223.8 504
Bl o + (&) 44.5 4.9 170 3 196.2 192.4 205.4 257
fu I e $ & () 42.1 3.3 176 9 242.0 226.3 83.5 148
T # (%) 44.1 7.4 174 9 222.0 208.1 100.2 251
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% i R[] FREf TH M M + A
i %8 B I=E:)) 39.3 6.9 166 5 263.1 244.5 419.1 297
i3 % £e33 8 (&) 40.1 8.5 155 3 229.9 223.6 181.4 277
% fi a8 (5 50.1 10.8 170 27 250.1 202.9 526.0 619
5F i (B) 50.7 11.0 185 3 297.2 287.2 1090.5 15
H % H & H @) # = (B) 67.3 2.0 174 0 254.9 254.5 179.3 73
BHXHK H @) & (5B) 46.3 11.1 188 23 350.6 302.6 682.9 225
2y =] # (B) 59.2 7.3 167 36 244.2 199.7 262.4 400
IS S i VA NS & (5B) 47.2 9.9 160 30 320.9 268.8 883.4 140
HERKEEY A # (5B) 46.9 10.8 183 30 396.3 334.6 367.0 970
B m N R ) & (5B) 45.3 6.9 173 50 357.0 276.0 312.0 815
75 L7 T (%) 36.1 13.2 159 35 354.9 258.9 485.2 122
£ $iE {8 T (55) 40.7 15.5 158 21 348.2 308.4 958.2 103
— ird 1t T (%) 39.9 16.9 150 17 359.0 295.1 1322.3 49
Jie T (%) 40.1 12.3 170 32 300.6 239.8 719.6 332
7 > A s T (%) 47.1 18.1 168 28 352.7 298.9 843.7 137
& B T (%) 40.6 16.2 165 24 333.0 272.3 982.9 305
# T %) 52.3 13.6 171 20 347.1 297.9 1141.8 31
i & T (%) 50.5 14.3 166 36 345.7 273.1 805.8 128
ft: + T (58) 41.1 6.8 174 35 330.6 281.8 383.0 163
e 2 T (%) 44.1 15.7 167 16 307.8 273.0 976.1 184
i ik HH T %) 39.4 15.4 170 18 331.7 275.7 981.8 891
% ik I T (%) 38.6 10.8 169 24 325.0 279.0 817.4 165
% Fik & T (%) 48.5 19.2 169 14 320.6 281.3 1390.0 36
H O OE K & T (%) 46.4 9.1 156 11 274.3 253.7 321.9 61
wmOE O % T. (#42) 40.3 6.5 158 5 176.6 169.8 85.7 8
LS B NES A T (5B) 36.7 16.3 157 20 406.7 338.0 1867.3 15
" K F oy 7 T (&) 28.5 3.5 163 29 313.2 253.2 1503.4 3
B &) R T (58) 41.3 20.3 158 29 359.7 284.3 1307.1 205
A (3] H % T (%) 39.0 15.2 169 25 320.6 275.4 855.5 327
SNve PE A K T T (5B) 32.8 6.8 168 14 270.2 255.0 166.4 98
Ny A KR T T (&) 40.1 12.2 177 17 191.2 171.3 29.4 155
3 D N b3 T. (#%0) 37.6 4.6 177 27 213.4 181.6 157.3 44
il iz T (%) 39.9 16.5 174 1 294.8 292.7 393.2 16
£ H T (%) 55.5 23.8 184 5 250.5 242.1 280.3 59
il IS T (%) 40.9 21.5 158 20 403.9 328.8 1286.5 132
+ 7 &' v b~ H T (%) 46.6 20.6 164 15 337.2 303.6 585.7 78
A B # IR & T ) 32.1 13.7 172 14 285.6 260.0 926.4 129
& B - I T (58) 45.9 22.5 165 29 385.7 317.8 1116.2 50
] Fik il T (58) 40.7 8.7 177 18 345.9 313.0 596.4 119
N A 5 T (%) 52.5 30.5 158 23 415.1 360.2 1317.7 1
A N T (%) 48.5 18.7 182 30 446.9 392.8 555.8 28
OB B MW T %) 51.2 13.0 177 18 396.0 357.7 411.9 335
* Hh 1E 8 (%) 51.6 15.5 168 21 321.9 295.4 373.6 81
G = T %) 38.7 15.4 169 18 349.4 307.0 1281.6 175
i Hil 7% T (%) 57.4 4.0 186 1 434.9 433.2 105.0 201
b} e T (5B) 45.6 8.3 164 39 300.6 228.8 22.6 67
L [6) T (35) 46.4 4.7 192 27 379.0 308.6 188.9 104
EZS it T (5B) 36.3 12.5 190 5 289.8 279.7 769.3 3
I B () 48.3 6.5 183 12 285.3 264.7 134.7 3
Aic (=3 T (5B) 33.3 6.6 175 21 314.4 283.8 919.6 219
fid (=g T (&) 46.5 9.5 176 0 239.1 238.9 412.6 44
+ T ($5) 44.0 13.2 175 11 310.6 284.6 159.3 147
Wl % 8 5) 44.1 21.0 147 20 437.5 383.8 1467.4 59
= Ju & 8 (®) 50.8 3.4 160 4 178.9 171.7 136.7 87
= v & 8 (%) 52.0 4.6 170 5 169.9 163.4 181.1 80
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